”/Q\". p
— -
)- n

Multiplique por poténcias de dez (nimero ausente)

Nome:

2, 442 x

3,135 %

4,012 x

8, 838 x

4,02 x

— 2442

= 3135

=40.12

= 883.8

8,285 %

4,615 x

3, 966 x

4, 494 x

8,725 x

= 402

= 828.5

=46.15

= 396.6

— 4494

= 87.25

Encontro: Data:

4,249 x

2,022 x

4,179 x

9,841 x

10, 929 x

1,139 x

— 4249

=20.22

=41.79

= 984.1

= 10929

8,929 x

3,952 x

1,566 x

7,919 x

www.snowmath.com

= 1139

= 8929

=395.2

= 1566

=7919

Pontuagao:
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/// ,f.\ Npy (2]
) \ _n_ Multiplique por poténcias de dez (numero ausente)

Nome: Encontro: Data: Pontuacao:
2,442 x 1000 = 2442 4,249 x 1000 = 4249
3,135 % 1000 = 3135 2,022 x 10 = 20.22
4,012 x 10 = 40.12 4,179 x 10 = 41.79
8,838 x 100 = 883.8 9,841 x 100 = 984.1
4,02 % 100 = 402 10,929 x 1000 = 10929
8,285 x 100 = 828.5 1,139 x 1000 = 1139
4,615 x 10 = 46.15 8,929 x 1000 = 8929
3,966 x 100 = 396.6 3,952 x 100 = 395.2
4,494 x 1000 = 4494 1,566 x 1000 = 1566
8,725 x 10 = 87.25 7,919 x 1000 = 7919
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